ITEM | QTY PART NUMBER DESCRIPTION COLOR
1 12 |DIN 6916 - 21 Washer Magenta
2 2 |DIN 6916 - 25 Washer Yellow
3 4 |DIN 912 - M20 x 100 Cylinder Head Cap Screw |[Blue
[ 4 |DIN 912 - M20 x 70 Cylinder Head Cap Screw [Magenta
5 1 |DIN 912 - M24 x 240 Cylinder Head Cap Screw |Yellow
6 4 |DIN 933 - M20 x 50 Hex-Head Bolf Green
@ 7 8 |DIN 985 - M20 Hex Nut Green
8 1 |DIN 985 - M24 Hex Nut Yellow
JAKE www.jake.fi
o mess | —|Boom support and Kronos
front pump/tank
Valtra N101-141 1
State Changes Date Name I

| 5 [ L ZF 3 | 7 I T



